
Perform a one sample t-test for the 
following hypotheses at an alpha of .01
H0:  µ = 10  vs. H0:  µ > 10 

Sample:  10, 9, 16, 15, 15, 12, 14

Perform a two independent sample t-test for 
the following hypotheses at an alpha of .05

H0: µ1 - µ2 = 0  vs. Ha:  µ1 - µ2 = 0

Sample 1: 3, 4, 7, 1, 5
Sample 2:  6, 3, 1, 8, 10, 8
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Perform a two dependent sample t-test for 
the following hypotheses at an alpha of .05

H0:  µ1 - µ2 = 0  vs. Ha:  µ1 - µ2 = 0

Subject x1 x2

1 3 4
2 5 6
3 4 4
4 7 10
5 6 5
6 9 10
7 7 8
8 4 7
9 3 3
10 2 3
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